

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 17, 2020

Progress E	Estimate Number	Contract ID Prime Contractor	200117-G06 Blevins Asphalt Const Company	Start	Period Period	September 2, 2020 September 15, 2020	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,968,100.00 (\$3,774.62) \$2,964,325.38			
Approval Date								By User			
September 17, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by									
September 17, 2020			Reviewed and Approv	ved (and should be	considere	ed Draft) at the Res	sident Engineer Level by	TEEGAJ			
September 18, 2020	Reviewed and Approved at the Central Office Controllers Office Level by										
Original Comple	etion Date	te Current Completion Date Actual Completion Date % of Current Contract Amount Cor									
September 1	, 2020	20 September 1, 2020 54.10%									

No Milestones Exist for Contract

Contract Total Pag	y For Estimate No. 5				
		This Estimate	Previous	To Date	
200117-G06					
	Total Posted Items Pay	\$1,546.90	\$1,602,185.46	\$1,603,732.36	
	Gross Item Adjustments	\$784.30	(\$784.30)	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$1,601,401.16	\$1,603,732.36	
Contract Total Pay	yable This Estimate:	\$2,331.20			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Current Installed Amount				
J7S3402	0130	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	\$1,218.00				
Project J7S3	402 - Total						\$1,218.00	
J8S3176	5101	6161009	FLAG ASSEMBLY	LAG ASSEMBLY EA \$25.300 13				
Project J8S3	176 - Total						\$328.90	
Overall - Tot	al						\$1,546.90	

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

	,	Stricing Exist on Contract						
Line Item	<u>Adjust</u>	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7S3402	0070	FLAG ASSEMBLY	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.30000 - 25.30000, 'is applied (if non-zero).	31	\$25.30	\$784.30
Total								\$784.30

Revision 4/1/2020 Page 1 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information								
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work							
J7S3402	FAS S603(13)	Seal coat	Various	VARIOUS	in the east portion of the	southwest district								
J8S3176	FAS S603(20)	Seal coat	Various	VARIOUS	in the OTO area of the s	in the OTO area of the southwest district								
Totals by	Job Numbe	rs												
J7S3402	Posted Item Pay Gross Item Adjustments Gross Item Pay			Item Pay	This Estimate \$1,218.00 \$784.30 \$2,002.30	Previous \$1,311,483.92 (\$784.30) \$1,310,699.62	To Date \$1,312,701.92 \$0.00 \$1,312,701.92							
	Liquid	tive entive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00							
J8S3176		d Item Pay Item Adjustm		Item Pay	This Estimate \$328.90 \$0.00 \$328.90	Previous \$290,701.54 \$0.00 \$290,701.54	To Date \$291,030.44 \$0.00 \$291,030.44							
	Liquid	tive centive lated Damages Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00							

Revision 4/1/2020 Page 2 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Exceeded Completion Time Exception: Contract 200117-G06, Time ID 00 DT, Time Type Completion Date, Current Completion Date 9/1/2020 12:00:00 PM.	No damages charged until determine overrun vs. time extension	TEEGAJ	Acknowledged

Revision 4/1/2020 Page 3 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

7-G06 J7S3402	0001 0001 0001 0001 0001 0001 0001	0010 0020 0030 0040 0050 0060 0070	4091048 4094001 4094011 4134000 6123000A 6161005 6161009	EMULSIFIED ASPHALT, SEAL COAT SEAL COAT AGGREGATE, GRADE A1 SEAL COAT AGGREGATE, GRADE B1 BITUMINOUS FOG SEAL TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	488,673.00 1,022,309.00 373,902.00 4,460.00	0.00	488,673.00 1,022,309.00 373,902.00	GAL SQYD	Qty 241,925.20 539,167.28	\$1.96 \$0.49	\$474,173.3 \$264,191.9
	0001 0001 0001 0001 0001	0030 0040 0050 0060 0070	4094011 4134000 6123000A 6161005	SEAL COAT AGGREGATE, GRADE B1 BITUMINOUS FOG SEAL	373,902.00 4,460.00	0.00			539,167.28	\$0.49	\$264.191.9
	0001 0001 0001 0001 0001	0040 0050 0060 0070	4134000 6123000A 6161005	BITUMINOUS FOG SEAL	4,460.00		373,902.00				
	0001 0001 0001 0001	0050 0060 0070	6123000A 6161005					SQYD	152,047.18	\$0.46	\$69,941.
	0001 0001 0001	0060	6161005	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	4.00	0.00	4,460.00	GAL	4,323.50	\$6.90	\$29,832.
	0001	0070			1.00	0.00	1.00	EA	1.00	\$3,825.00	\$3,825.
	0001		6161009	CONSTRUCTION SIGNS	5,780.00	169.50	5,949.50	SQFT	5,780.00	\$7.05	\$40,749.0
		0080		FLAG ASSEMBLY	38.00	31.00	69.00	EA	69.00	\$25.30	\$1,745.
	0001		6161025	CHANNELIZER (TRIM LINE)	240.00	-240.00	0.00	EA	0.00	\$5.10	\$0.
		0090	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	1.00	\$385.00	\$385.
	0001	0100	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	6.00	\$3,540.00	\$21,240.
	0001	0110	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	8.00	-4.00	4.00	EA	4.00	\$1,350.00	\$5,400.
	0001	0120	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$400,000.00	\$400,000.
	0001	0130	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	8.00	0.00	8.00	EA	6.00	\$203.00	\$1,218.
	0001	0140	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	10.00	0.00	10.00	EA	0.00	\$182.00	\$0.
	0001	0150	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,071,449.00	0.00	2,071,449.00	LF	0.00	\$0.07	\$0.
	0001	0160	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,071,449.00	0.00	2,071,449.00	LF	0.00	\$0.05	\$0
	0001	0170	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	48.00	0.00	48.00	LF	0.00	\$15.20	\$0.
	0001	0180	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	104.00	0.00	104.00	LF	0.00	\$15.20	\$0
	S3402 - To			Date as of Report Generated Date							\$1,312,701
J8S3176	0001	0190	4091048	EMULSIFIED ASPHALT, SEAL COAT	123,949.00	0.00	123,949.00	GAL	53,851.95	\$1.96	\$105,549
	0001	0200	4094001	SEAL COAT AGGREGATE, GRADE A1	354,140.00	0.00	354,140.00	SQYD	153,662.78	\$0.48	\$73,758
	0001	0210	4134000	BITUMINOUS FOG SEAL	1,557.00	0.00	1,557.00	GAL	0.00	\$6.85	\$0.
	0001	0220	6161005	CONSTRUCTION SIGNS	1,020.00	66.00	1,086.00	SQFT	1,020.00	\$8.20	\$8,364
	0001	0230	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$103,029.58	\$103,029
	0001	0240	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	22.00	0.00	22.00	EA	0.00	\$203.00	\$0.
	0001	0250	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	8.00	0.00	8.00	EA	0.00	\$182.00	\$0.
	0001	0260	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	249,417.00	0.00	249,417.00	LF	0.00	\$0.07	\$0
	0001	0270	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	249,417.00	0.00	249,417.00	LF	0.00	\$0.05	\$0
	0001	0280	6206124A	24 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	48.00	0.00	48.00	LF	0.00	\$15.20	\$0.
	0001	0290	6206125A	24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	100.00	0.00	100.00	LF	0.00	\$15.20	\$0
	0001	5101	6161009	FLAG ASSEMBLY	0.00	13.00	13.00	EA	13.00	\$25.30	\$328
Project J85	S3176 - To	tal Value	Posted to D	Date as of Report Generated Date							\$291,030.

Page 4 of 6 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J7S3402

Line Number	Item Code	Description		DWR Approval Date		Units			Offset/ Distance		Comments
0130	6200021	PREF THERMO PVMT MARK, LT/RT ARROW	9/8/20	9/17/20	6.00	EA	Rte. A Webster County	.619		.814	

Project: J8S3176

L Nu	ine Item mber Code	Description		DWR Approval Date	Quantity Posted	Units	Location		Offset/ Distance		Offset/ Distance	Comments
	5101 6161009	FLAG ASSEMBLY	9/8/20	9/17/20	13.00	EA	various	various		various		

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 5 of 6



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
0070	FLAG ASSEMBLY	Overrun	Overrun	2	Aug 3, 2020	SYSTEM	(\$379.50)		
					3	Aug 17, 2020	SYSTEM	(\$354.20)	
					4	Sep 2, 2020	SYSTEM	(\$50.60)	
				5	Sep 17, 2020	SYSTEM	\$784.30	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',25.30000 - 25.30000, 'is applied (if non-zero).	
			Overrun - Tot	al			\$0.00		
	Overrun - To	Overrun - Total					\$0.00		
0070 -	070 - Total						\$0.00		
Overa	Overall - Total						\$0.00		

Revision 4/1/2020 Page 6 of 6